FER22FEREICEDBLLHIBTLEEEZIZDOINT

(T HEEOHBES LI T 5 BEES b5 I ERH21E4 A /DL EMICHETSN., )
COERBICEDEMANKEARI, BEE. @HMLE(ORAFFLHEOEHZRAFRFLLES
RAABRELFEORREBLLE) BRARUEZEEZEDEFEIMLE-LT. BRICHEL. TR
DESAIZARLTVET,

KBEEFECD{EQH:*UEﬁtb%&lﬁﬁﬁﬂ‘&tb%l:o%ibfli\ TRODEEYTY, J
1 B2HBrtbE ( )NIERTEELRE
X po) EERFILE [ BferBnriis| RENRELE | FRBHEEE
X E W O K FE |(=n =% D[R —% CXD|145%12.9 % (925%) 76. 3 %
BEHE21EE 11.59 % 16.59 % 25.0 % 350.0 %
B B B &£ & £ 20.00 % 35.00 % (3%2) 350 % —

X1 EEARFLHERVERZEGRFLLEIZDVNTIE, FFELGN O — IRRIZHEYET,
(EEINZIIF15(EM (4.23%) D EF ., EFEEE U (F5956. 112 (15.84%) D EF T, )

%2 E%ﬁ%ﬁéﬁ?tbﬁ@ﬂa‘&ﬁi&iﬁlis SEMDIZBIEE (HETAT(X40%—40%—35%) hidHlY) . 4FE B H D
30%ZHYET,

2 BEAFRLHE

21 & B2 ELE RERSILEE £it4& e TR E RERSILEE
NHETKESERNSET - % EHKEEEENEHT] — %
ETEREREAETKE . - ~x .

%%4#?3”%%1- A) iEJE%%*%%”Kn-I- A)
BEEZHKEESNSH] — % 20.0% R E XS - % 20.0%
BEEZRHKEEENSH — % KEEESE - %
REETH N EREES -
EXcHE ’

NEERENGENSH, BEEFBHEEFN— IRRITHEVETS,

_[(HSFRT) (84 FF)

PNHETKEBERFI |BEBRERESAHRT |EEEERHKEX |AESEZHKEE [FEETETNER
& |&Et KEBXRFAEE YAl ET YRl E HEHEEXFRSET
% 282 104 70 148 120
;’; BFZKEEXFHNSPEESERFANRIT |RREERE KEEXEEE
48, 551 51 2, 560, 823 819, 031

KEMDOER22FEREICETARETORECHIMLEERVESTREERE, WThILEHES

EEE BERESEEEZTEHL THETS,

SHEL. BEEORENEEZ LRGBS IBELGMBIEEICEHTENET,




HRESHFEREORERER (FR2FERES)

1. REFRFHE

RERFHER

2. ERRERFLLE

EERERFHER

3. RENRELE

RENMRELR

4. FR|BHE

frkEEER

(B FH)

~ —REAHEOREFTE

EEBRE
_ 0 (1,498,801 FHMD EF)
B 35,379,844
_ — ¥ BiigetEE  11.59%
- B EEEE 20.00%
~ EREEHUFTH

EEBRE
_ 0 (5,607,601 FHDEF)
B 35,379,844
_ Bt R #E 16.59%
= =  h PR EERE 35.00%

(THREEE+HETIEEREE) - FERFE+
TAEEE-EXFEEECHRIEENRFELEEALE) n3n

Z AR R — FFEH
THEES - ETHEZERICRIZ LM BREEEEALE
(2045 ) (ER21EE) (ER224 )
4,001,225 3,562,033 3,287,117
+ + /3
{ 26,898,684 27,828,701 29,375,359 J
= 12.9% PHgeeEE  2500%

MRBLEREE 35.00%

FrkGEE — (RURRESEHIFENREAE+AER
AEFICRIEEVHRTEEEARRALE)

EAEBABUR R —
THEES - ETHEERICRIE LN RNEELEE AL
B 22,439,195
29,375,359
=  76.3% Bt R #E 350.0%



5. EETRHE

HEEDOT R4E
BEETEHE =
EEDORE
(DAHETKEBERINEE) (BIR%E)
0 (282)
= = - %
734,651
(B EBREREAHXTKEFERIEE)
0 (104)
= = - %
64,924
(BEEZEFKBXERFNEE)
0 (70)
= = - %
14,602
GRESEZHKEERSET)
0 (148)
= = - %
55,932
GRIEETHETH ZiEHES ER NS
0 (120)
= = - %
43,530
(FZKEBXERFNEET)
0 (48,551)
= = - %
490,939
(IREEEXBREET)
0 (51)
= = - %
6,189
(FREEEEEE)
~ 0 _ o, (s
- 3,170,281 -
(KEFESE
~ 0 _ o (Csteosn)

1,206,036



	H22-1
	H22-2

